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Al 14,190 14,490 A300
09 S AFAIHI 24 3 20,780 21,380 2600
O M 5e0 Agns 4% 24
23 6,400,0009 6,400 7,000 A600
2 3,200 3,500 £300
Al 3,200 3,500 £300
CEE 8% YsJI2WS 9,520 16,000 £6,480
= 4,760 8,000 A3,240
Al 4,760 8,000 A3,240
201 et HH| 7,500 1,400 £3,900
= 3,750 5,700 A1,950
Al 3,750 5,700 A1,950
01 At 22l bl 7,500 11,400 3,900
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23 6,700,0002 6,700 8,400 A1,700
< 3,350 4,200 850
Al 3,350 4,200 850
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< 0 1,000 A1,000
Al 0 1,000 A1,000
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09 #AFAIHI 2 &3 2,020 4,600 £2,580
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= 1,010 2,300 A1,290
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201 Lt | 7,000 17,000 £10,000
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Al 3,500 8,500 A5,000
01 Ak 2reltl 7,000 17,000 £10,000
O geragH| 2,200 12,200 10,000
o sYoME 2Y DSLM MT FF 02 0 10,000 £10,000
2 0 5,000 A5,000
Al 0 5,000 £5,000
SIS (A2ME) 8 N (UHAL) 10,000 0 10,000
201 Yere Al 10,000 0 10,000
01 Ab 22l 10,000 0 10,000
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31,2502 » 80 * 25 + 23 10,000 0 10,000
sgols stssoel 29 21,600 21,600 0
201 Yete A | 5,480 8,480 £3,000
01 AL 2rel | 5,480 8,480 3,000
O geragH (B2 3% X3 3,080 6,080 £3,000
o s&s0l2l 2% DSLY M
2 1,200,008 1,200 4,200 £3,000
206 M 2t 3,400 2,400 1,000
01 HEHI 3,400 2,400 1,000
O stzEoel 2% WEPY
23 3,400,0008 3,400 2,400 1,000
12,720 10,720 2,000
12,720 10,720 2,000
29 ALY 8,720 6,720 2,000
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243 3,360,0008 3,360 2,560 800
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o ElXZ(FIH) 2 & 3,100,000& 3,100 1,600 1,500
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< 1,800 0 1,800
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sSEMBIHA 180,336 187,796 A7,460
Py 50,000 50,000 0
= 5,994 8,232 ~2,238
Al 124,342 129,564 A5,222
Cl&sel SEHEE X 9,700 10,000 A300
= 2,910 3,000 A90
Al 6,790 7,000 A210
206 TH 2 bl 4,500 4,800 A300
= 1,350 1,440 A90
Al 3,150 3,360 A210
01 HE I 4,500 4,800 300
O asol SSEE HEPY
A 4,500,0008! 4,500 4,800 A300
< 1,350 1,440 A 90
Al 3,150 3,360 A210
ClasYel SEUH S4 1,400 2,000 AB00
= 420 600 A 180
Al 980 1,400 A420
201 L2yl 800 830 A30
= 240 249 A9
Al 560 581 A2t
01 Ak 2tel 800 830 A30
O st 200 230 A30
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Al 140 161 A2
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= 33,000 33,000 0
= 3,000 0 3,000
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HsHE Sa B N 15,000 0 15,000
= 3,000 0 3,000
Al 12,000 0 12,000
201 L2yl 15,000 0 15,000
= 3,000 0 3,000
Al 12,000 0 12,000
01 Ak 2teltl 15,000 0 15,000
O srxgy| 15,000 0 15,000
o Az FHE s HI 222 HT(AY
=91) 2,500,000 * 2% 5,000 0 5,000
o EAl ?s - A& stats) &}
5,000,00020 * 23l 10,000 0 10,000
< 3,000 0 3,000
Al 7,000 0 7,000
NRsel(ASHE) JZYSI2DS X2 4,500 12,240 A7,740
2 2,250 6, 120 ~3,870
Al 2,250 6, 120 £3,870
201 2yt FH| 2,940 7,900 £4,960
=2 1,470 3,950 A2,480
Al 1,470 3,950 A2,480
01 Ak 2reltl 2,940 7,900 A 4,960
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Al 500 1,330 £830
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2 1,250 0 1,250
Al 1,250 0 1,250
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2 1,000 0 1,000
Al 1,000 0 1,000
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2 750 0 750
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SOYUR AR 2 1,600 0 1,600
201 Lyt HH| 1,600 1,600
01 At 22l 1,600 1,600
O 2949 1,600 0 1,600
o Asoigdel NVRVE AV BALY
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